B N ERE

1. LEA4
THE4 B ABEKEEE D 2 T35
T4 PrB RN T T E AR e
2. TENE
1)  FHEIT4 RIS SET T % #
2) X I f& I T2
3) L £ 219H M H S 64 8H20H
= SFn T4 3H26H
4) T EgE

i@ Aokt 5w m



)

B N ERE

THE4 | HEAGEKMEEZO 2 TH

THXSy « TfE - FER A B & & B # a1l ) 7
LiE - =X 1 88, 397, 250
LT = 1 14, 873, 360
FEHI T (ICT) = 1 2,874,960 |#EHI(ICT) 5, 400 m3
L4
el 5, 400 m3
L4
AT Y 1 1,123,056 | B4 (L) RS+ 120 m3
2. SmA ;
PR (ZL) ik - 480 m3
2. 5mPL F4. OmART ;
4T (ICT) = 1 2,437, 440 | BEIR (FLE2) A% £ (ICT) 9, 600 m3
4. 0mPA F
EEEETE T (ICT) = 1 8,437,904 |{EmFET (B 1) (ICT) 110 m2
VA + W R O + RstE L
BT (B 5R) (ICT) 2, 880 m2
REAFE DL ;
BT (B 5R) (ICT) 2,310 m2
ZNEmAETY
b 1 =K
+rb CEl - ERREY L&) ;
B 760 m3
FPEL
Pkt gD T 2V 1 49, 532, 346
LT 2V 1 3,097,968 | FEHE Y 1 =K
L4
HWREL 1 =
HWREL 1 =
FLE e 1 =
Pk T 2V 1 25, 634, 271 | BUBFTH:A% 379 m
18-8-40BB W/C=60% ;
AT/ 0 k3 —) 1 m3

-1 - ESR o3 E < o] 3 ok S




PR NERE

THE4 | HEAGEKMEEZO 2 TH

THXSy « TfE - FER A B & & B # a1l ) 7

18-8-40BB W/C=60% ;

Bl TR (B@8E) 207 b 7 m3
18-8-40BB W/C=60% ;

a0 =h ([8%0) 77 ny ) 8 677 m2
RM2-H1. 2-U1-NO. 5 ;

JIA - BEARY () 125 m3
RC—40 ;

Bl T K2y 1) =) 27 m3
18-8-40BB W/C=60% ;

)=} 61 m3
21-8-40BB W/C=60% ;

- 1 ST
24-12-40BB W/C=55% ;

A T Y 1 14, 688, 057 | 7" Vv ANUALAAI 145 m

PUT-B300-L2000 ;

7 Vi A NURLAR 1 203 m
BF- I -B450-L2000 ;

7 Vi A NURLAR 1 12 m

(PRI - R )
BF- I -B450-L2000 ;

7 Vi A NURLAR 1 436 m
BF- I -B500-L2000 ;

7 Vi A NURLAR 1 545 m
BF- I -B600-L2000 ;

7 Vi A NURLAR 1 51 m
BF- 11 -B600-L2000 ;

7 Vi A NURLAR 1 108 m
HF-H300 X B300-L2000 ;

T 25 e
CB-500-L1000 ;

= 70 #
CB-600-L1000 ;

T 20 e

HF-H300 X B300/H ;

-2 - ESR o3 E < o] 3 ok S




PR NERE

THE4 | HEAGEKMEEZO 2 TH

THXSy « TfE - FER A B & & B # a1l ) 7
et 12 (50
18-8-40BB W/C=60% ;
JE T 6 (50
18-8-40BB W/C=60% ;
T = 1 919, 750 | 1@ /LoR 9 ) ARV b 7 m
CSB- I -D500-L2400 ;
TR 9P AN =] 10 m
CSB- I -D600-L2400 ;
IR 80 m
VU ¢ 100 ;
HIET 2V 1 2,533,280 |7 VAN v/A 20 m
BF-B0OX-500-L2000 ;
7 VRYAME 9 42 m
BF-B0OX-600-L2000 ;
£ K- 7k T 2V 1 2,659, 020 | BLGHT &AM 1 (50
MC7E (800 X 800 X 500) 18-8-40BB W/C<60% ;
BUGFT B Kt 1 (50
MD7E (1200 X 1200 X 500) 18-8-40BB W/C=<60% ;
BUGFT B Kt 1 (50
MFAE (1200 X 1200 X 1900) 18-8-40BB W/C<60%
BUGFT B Kt 1 (530
(B1H7KM 1)

MEFE (1000 X 1000 X 1000) 18-8-40BB W/C=60%

BT DR 1 i AT
(25K T)
MEFE (1000 X 1000 X 1000) 18-8-40BB W/C=60%

BT DR 3 i AT
(35K T)
MDFE (900 X 900 X 900) 18-8-40BB W/C=60% ;

BT DR 2 {1 AT
G K T)

-3 - ESR o3 E < o] 3 ok S




PR NERE

THE4 | HEAGEKMEEZO 2 TH

THXSy « TfE - FER A B & & B # a1l ) EN
MD7E (800 X 800 X 800) 18-8-40BB W/C=60% ;
BUGFT B Kt 1 (50
(355 7K 1)
MD7E (800 X 800 X 800) 18-8-40BB W/C<60% ;
BUGFT B Kt 10 (50
(Befoitt 1)
MD7E (800 X 800 X 800) 18-8-40BB W/C=60% ;
AN = T 2V 1 7, 632, 060
7 VANV =} L = 1 6,189, 180 | 7" VF¥AMK vJA 8.7 m
BX (R) -S (al) -B3000-H1200 ;
7" VAR AMAERE T Y 1 769, 680 |7 ¥y MERE 9 m
LW-H1610-A I -1120 ;
W T Y 1 673,200 |YGETITHIEE 34 m
24-12-40BB W/C=55% ;
R i L 2V 1 273, 760
BEARIBS A T 2V 1 273,760 | B =} Ly 16 m
WEENL Gr-B4-2B
418 1 T Y 1 5,272,215
TAT 7 %S T Y 1 5,272,215 | T )& (B8 - B ) 1, 950 m2
RC-40 t=150mm ;
)3 (HIE - B ) 1, 950 m2
OFRLET A7 7V MEA Y (Br20FH) 34 t=50mm
FEE YR T 2V 1 145, 410
HEEE L T Y 1 83,560 |av))-MEEMEE L 10 m3
mAEY
TE R ALER T = 1 61, 850 | FXIEME 1 =
) -hik (5
LSy 10 m3
270 - hik GES)

-4 - ESR o3 E < o] 3 ok S




P oxin =
FERNRE
THE4 | HEAGEKMEEZO 2 TH
THEXS - T - FER - va ¥ = & Hm a1l M 3
FGan Y 1 10, 668, 099
THHEKT Y 1 360, 679 | BHLH] =
RC-40 t=100mm ;
HERIR it
22X 1,524 X6,096 (mm) & - ;
IRK i T Y 1 10, 307, 420 | KRV =
+w

HWREL =
KRR E 2V

RS 2V 1 88, 397, 250

Il R Y 1 9, 649, 349
s fEeE = 2, 781, 349
TR Y 648, 960 | i AA TR 2V
B gy = 1, 240, 389 | {R£SFAEE (ICT) =
YATARI R (ICT) =
Bl RIEUER (FE L) Y 892, 000
Il (it L) Y 1 6, 868, 000
il T Y 1 98, 046, 599
Bl H e 2V 1 27, 080, 000
T =5 Y 1 125, 126, 599
— R B 2V 1 20, 833, 401
T A0 =Y 1 145, 960, 000
— 5 —

i@ Aokt 5w m



